
qTFdWo gerrtquT frf,{r
qffiqqT zDT ;nq :- G?rrl-{ smrorvft d frorqrcros, frfr q otr-{Etc, {fiq, gcmr, srrd qt { qr.f or
M-r r (z.ooofoofto) ei+wa to-s.oszs to t

gerrhu {ek{ ctrt fls :-- -srlA ft{f}d I <i-grr Smu to ,- t r.zos }6

m'ogo o-rd or qrq qT-{T E-d-r
J

{{ cft q-flPr

1 rlt vq {i-qrf,{ 1 to 120.00-/ to 1,351.80
2 ei, a1 r{m-r{ (ffi oer=r erft) 1 Bo 1,578.00 *o 17,776.rL
J 3rfiJq A"nd-{€ 1$R{rr) ea qc fro cfr t'o 84 q=I

fro
316.00 tso 299,018.16

4 o-qwtflgsrtrffi
qfr Bo) Tfl lTd e-tet"T & o-.t qrs-sra, qreq

+d rs dg srftnBot 6rd +S-gd ffiq,
qrr-{!ft-{ t-63.r oirfr ET Frqtur o-rcr I

L.S 7es,600))a

E rssT qsr.{ (0.30X0.30X0.45) 22530
-,r.se

7.40 . IEd 166,722.00.
tJ g;if'Tr

qr 
r 75

1 to 485.00 to 5,+63.53.
?1:.n NET 5.93 qltl

<-
Bo

133,602.90,
o qq qr{, {Iil.rT (5{-{I Yq

q{ rtril
1 t'U 489.00 5,5C3.59

:- qsFI 25,O43.14
iltul :-

1 rr.ggl lI{Iq .30x0.30x0.45) 22530 1.3 0 29,289.00
2 ea'qq 6'1 25 22530 dq 1.05 dq 23,656,50
J gar{ 22530 q)tr 6.50 dq 146,445.09-
4 g

ti
22530 qler 2.74 dtr 61,732;20

5 '22530 .r,ge 3.00 .t-.sd 67,seg$j
b q (qI q{ E{rl 22530 .T-s3

21.o/o rc-A 4,73L30
7 q {gFI IR AIq 9

qrd
9 qr6 6,870.00 qr6 61,8309L

ao 1 qnr-qsr
1 376.00 4,235.64

ErErPi o) FcIrT

2 E{eil ilEr 4 t,'tE 1. 277.00 3,1',20.41

83 g{en qrrrstFdl d9JI E{enarfutZr+Efui 6) q'rd{r6r +fl

1 577.00 6,499.9

I 289.00 3,2ss.59
9 3r.zl qq gdr{ 1 1.,327.00

3ilfr 'fiq gerntw d gIITI {Ei d -.i=H tg
'. !- o,19 s,4

'fr1l sd q EI d-{ Ela qriffi Stds
oi q-aR-q-srq T.T +q+tric arrR o-rd I

427,334.
T{ul :--

1 gtltl-d
12 qi6

{q{sFr q 3Ifl&IT L2 qr6 7557.00 qr6 e0,68+)9

2 Iuft{l' 1 to 866.00 9,755,49

100,439.49

q$ o1 olq-d (B.t'q s{)



r1 ,EOHO .FI ;il-q qTTt Sttrl (t
ERUT

{q{glq S 3t$efrf
12 IT6

grl{l<i 72 qr6 831.2.70 qI6 ee,7syj

2 vq 3r-zlEqeTr 1 866.00 9,755.

109,507
?{uI :-

{q{clttl q 3i-5rcTur

12 qr6
gq{T{i

1,2 qr6 9143.97 qr6 1,09,72y,4

2 E{en I 1 866.00 9,755

tlg,4B3.l
q€q qwt :-

{q{GI]tI S 3ISETUI

12 qr6
BC{|.<I 1.2 qr6 10058.37 qr6 120,70y0

2 E{eTr I 1 866.00 3,1,41.W
123,842.

TIqfq q{-q :-

T2 qr6 11064.21 qTE

2

$RT<I qETI {q{Gl]tl cr3IWeTul
i2 qI6

gqen i 866.00

1,32,Jm.48

'l 1,4

135,91
3[gq qtq:-

rq{Grrq s 3t5reTurgERIf, {{KIq
12 qT6

L2 qT6 1217A.63 qr6 146y.s7

2 E{efl I
1 866.00 3,14

749, 2?{u[ :-
tsft{I<l 3I€q irg{g,q g 3lj-retut

12 rlf6
12 qrd 13387.69 qlE 1"60,6s).?2

2 E$IT I
1 866.00 3,t4

163,EVII z;qUI :-
1 rqrsEr s 3r:Ye+rBT{rm r"ry

12 qI6 12 ql6 14726.46 qr6 176,7W
2 SceTr I

1 866.00 3,141.85

179,859.36
CFET

2934405.364

eft.Nm gerrtcur fu "nnF,n 
get @rr q"ftt Bo _

qF.qr-.n-'n l='rqioi -ig ,'rrlft; a;r rr.ft .r: wnleT <)rd 3rqrf, eiaqr4 q
3ilcls{fi q-{qrfrT ,Dec(cC ..,r, trg/B.837&.5-=.,9

,,MA
?anc Fsrcsl Orvldar

Rs

say :-
qT

?s3440s.yiA

.2s3440yN: 29 s37B-G.o

tw

lrrnit ! lp

qafi*rt13",

da Euttt'
qiil

ffi!'

ig

Be qq we{q,

U#,--

qfil q-fff*r

1

tso tso

frq -
1

Bo tso

1

1


